2012-13 Tuition and Fees - Domestic Students - Undergraduate and Professional Programs										
				D	ue: Sep 1		Due: Sep 1	Dι	ie: Sep 30	
	Normal		Unit		Tuition		Student		Student	
	Units		Fee		2012-13	Δ	ssistance Levy	Ac	tivity Fees	Total
	(Note 1)						(Note 3)		(Note 4)	
Engineering & Applied Science (Notes 2 & 5)										
After May 1, 2012	30	\$	344.80	\$	10,344.00	\$	100.00	\$	968.92	\$ 11,412.92
Between May 1, 2011-Apr 30, 2012	30	\$	332.03	\$	9,961.00	\$	100.00	\$	968.92	\$ 11,029.92
Between May 1, 2010-Apr 30, 2011	30	\$	319.76	\$	9,593.00	\$	100.00	\$	968.92	\$ 10,661.92
Prior to May 1, 2010	30	\$	307.90	\$	9,237.00	\$	100.00	\$	968.92	\$ 10,305.92
Arts and Science (Notes 6 & 7)										
After May 1, 2012	30	\$	190.20	\$	5,706.00	\$	100.00	\$	875.96	\$ 6,681.96
Between May 1, 2011-Apr 30, 2012	30	\$	189.30	\$	5,679.00	\$	100.00	\$	875.96	\$ 6,654.96
Between May 1, 2010-Apr 30, 2011	30	\$	188.43	\$	5,653.00	\$	100.00	\$	875.96	\$ 6,628.96
Prior to May 1, 2010	30	\$	187.50	\$	5,625.00	\$	100.00	\$	875.96	\$ 6,600.96
Commerce										
After May 1, 2012	33	\$	428.51	\$	14,141.00	\$	100.00	\$	1,058.85	\$ 15,299.85
Between May 1, 2011-Apr 30, 2012	33	\$	412.63	\$	13,617.00	\$	100.00	\$	1,058.85	\$ 14,775.85
Between May 1, 2010-Apr 30, 2011	30	\$	397.36	\$	11,921.00	\$	100.00	\$	1,058.85	\$ 13,079.85
Prior to May 1, 2010	27	\$	382.59	\$	10,330.00	\$	100.00	\$	1,058.85	\$ 11,488.85
Education										
Consecutive and Final Year Concurrent	Per unit	\$	187.50				See Note 3	\$	964.97	
Concurrent (Education Courses)	Per unit	\$	187.50				See Note 3			
Continuing Education Courses (AQ)	Per course			\$	735.00	\$	20.00			\$ 755.00
Continuing Education Courses (ABQ)	Per course			\$	665.00	\$	20.00			\$ 685.00

			Due: Sep 1	Due: Sep 1	Due: Sep 30	
	Normal	Unit	Tuition	Student	Student	
	Units Fee		2012-13	Assistance Levy	Activity Fees	Total
	(Note 1)			(Note 3)	(Note 4)	
Law						
After May 1, 2012	Per term	\$ 7,678.50	\$ 15,357.00	\$ 100.00	\$ 1,030.32	\$ 16,487.32
Between May 1, 2011-Apr 30, 2012	Per term	\$ 7,394.00	\$ 14,788.00	\$ 100.00	\$ 1,030.32	\$ 15,918.32
Prior to May 1, 2011	Per term	\$ 7,120.50	\$ 14,241.00	\$ 100.00	\$ 1,030.32	\$ 15,371.32
Medicine						
After May 1, 2012	Per term	\$ 10,630.50	\$ 21,261.00	\$ 100.00	\$ 1,074.35	\$ 22,435.35
Between May 1, 2011-Apr 30, 2012	Per term	\$ 10,236.50	\$ 20,473.00	\$ 100.00	\$ 994.35	\$ 21,567.35
Between May 1, 2010-Apr 30, 2011	Per term	\$ 9,857.50	\$ 19,715.00	\$ 100.00	\$ 994.35	\$ 20,809.35
Prior to May 1, 2010	Per term	\$ 9,492.50	\$ 18,985.00	\$ 100.00	\$ 994.35	\$ 20,079.35
Nursing						
After May 1, 2012	30	\$ 190.20	\$ 5,706.00	\$ 100.00	\$ 926.85	\$ 6,732.85
Between May 1, 2011-Apr 30, 2012	30	\$ 189.30	\$ 5,679.00	\$ 100.00	\$ 926.85	\$ 6,705.85
Between May 1, 2010-Apr 30, 2011	30	\$ 188.40	\$ 5,652.00	\$ 100.00	\$ 926.85	\$ 6,678.85
Prior to May 1, 2010	30	\$ 187.50	\$ 5,625.00	\$ 100.00	\$ 926.85	\$ 6,651.85
Advanced Standing Track	30	\$ 187.50	\$ 5,625.00	\$ 100.00	\$ 946.85	\$ 6,671.85
	Scho	ool of Religi	on			
Master of Divinity (2 year program)						
After May 1, 2012	Per term	\$ 2,826.66	\$ 8,480.00	\$ 100.00	\$ 1,054.97	\$ 9,634.97
Prior to May 1, 2012	Per term	\$ 2,705.00	\$ 8,115.00	\$ 100.00	\$ 1,054.97	\$ 9,269.97
Master of Divinity/Bachelor of Theology (3 year						
program)						
After May 1, 2012	30	\$ 184.76	\$ 5,543.00	\$ 100.00	\$ 1,054.97	\$ 6,697.97
Between May 1, 2011-Apr 30, 2012	30	\$ 183.86	\$ 5,516.00	\$ 100.00	\$ 1,054.97	\$ 6,670.97
Prior to May 1, 2011	30	\$ 183.00	\$ 5,490.00	\$ 100.00	\$ 1,054.97	\$ 6,644.97
Master of Theological Studies						
After May 1, 2012	30	\$ 210.80	\$ 6,324.00	\$ 100.00	\$ 1,054.97	\$ 7,478.97
Prior to May 1, 2012	30	\$ 209.76	\$ 6,293.00	\$ 100.00	\$ 1,054.97	\$ 7,447.97

Notes

- 1. Tuition for all programs (except Law and Medicine) is assessed on a per unit basis. If you enroll in more or fewer units than the normal load, your tuition will be adjusted accordingly. Engineering & Applied Science students, please see note 2.
- 2. Engineering and Applied Science Students are assessed on a per unit basis up to 15 units per term. The maximum per term tuition is equal to 1/2 of the tuition fee.
- 3. The Student Assistance Levy (SAL) is applied on a per term basis using the following charts. There is no ceiling on SAL.

Arts & Science, Commerce, Education, Nursing, Religion SAL						
Units	Rate					
.01-3	\$	10.00				
3.1-6	\$	20.00				
6.1-9	\$	30.00				
9.1-12	\$	40.00				
12.1-15	\$	50.00				
15.1-18	\$	60.00				
18.1-21	\$	70.00				
21.1-24	\$	80.00				

Law & Medicine SAL: \$50.00	per term
-----------------------------	----------

Engineering & Applied Science SAL								
Units	Rate		Units	Rate				
.01-3	\$	8.25	.01-3	\$	8.25			
3.1-6	\$	16.50	3.1-6	\$	16.50			
6.1-9	\$	24.75	6.1-9	\$	24.75			
9.1-12	\$	33.00	9.1-12	\$	33.00			
12.1-15	\$	41.25	12.1-15	\$	41.25			
15.1-18	\$	49.50	15.1-18	\$	49.50			
18.1-21	\$	57.75	18.1-21	\$	57.75			
21.1-24	\$	66.00	21.1-24	\$	66.00			

Master of Divinity (2 year) SAL \$33.33 per term

4. Student Activity Fees (SAF) have mandatory and optional components. Please see your respective student government website for more details about SAF. The AMS website is: www.myams.org; the SGPS website is: www.sgps.ca

Students in the following programs pay additional fees:

Computing: Add \$15.00

Physical & Health Education & Kinesiology: Faculty Society Fee is \$27.00

Concurrent Education Students not in final year pay the SAF associated with their primary program. They will be charged an additional \$16.00 Concurrent Education Society Fee.

- **5**. Registration in the Engineering & Applied Science Extended (900 section) program incurs a fee of \$448.00 per course. Registration in the Engineering & Applied Science Extended (900 section) program rewrites (Summer Term 2013) incurs a fee of \$466.00 per rewrite. Supplemental examination incurs a fee of \$250.00 per exam (see Faculty calendar for details).
- **6**. Registration in each of MUSC P04, 120, 121, 220, 221, 320, 321, 420 or 421 incurs an additional fee of \$500.00 per course. Registration in each of MUSC 124, 224, 324 or 424 incurs an additional fee of \$1600.00 per course.
- 7. Registration in PACT 338 or 438 incurs an additional fee of \$400.00 per course.
- **8**. \$75 Off-campus Exam fee for Arts and Science Undergraduate Online Courses offered through Continuing and Distance Studies (only applies to distance students writing proctored final exams at off-campus centres).